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Roll No. ....................................

MA-10 (M.A. Political Science)
First Year Examination-2015

MAPS-02
Comparative Politics

( rqyukRed j kt uhfr )
Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained
in these sections according to the detailed instructions
given therein.

uksV % ; g i z' u&i =k l kB (60) vadksa dk gS t ks rhu (03) [ kaMksa d ] [ k rFkk
x esa foHkkft r  gSA i zR; sd [ k. M esa fn,  x,  foLr r̀  funsZ' kksa ds
vuql kj  gh i z' uksa dks gy d j uk gSA

Section - A @ [ k. M&d
(Long Answer Type Questions)@( nh?kZ mÙkj ksa okys i z' u)

Note : Section 'A' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners are
required to answer any two (02) questions only.

(2×15=30)

uksV % [ k. M d̂ * esa pkj  (04) nh?kZ mÙkj ksa okys i z' u fn; s x,  gSa] i zR; sd
i z' u ds fy,  i Uæg vad fu/ kZfj r  gSa A f' k{kkfFkZ; ksa dks buesa l s
dsoy nks i z' uksa ds mÙkj  nsus gSa A
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1. What is comparative politics? Describe the objects and
problems of comparative politics.

rqyukRed jkt uhfr D; k gS\ rqyukRed jkt uhfr ds mís' ; ksa , oa l eL; kvksa
dk o.kZu dhft , A

2. Discuss the views of Almond and Powell regarding structural
functional approach in comparative politics.

rqyukRed jkt uhfr esa vkWu.M , oa i kWoy ds l ajpukRed&i zfØ; kRed
mi kxe l s l EcfU/ r fopkjksa dh foospuk dhft , A

3. What is Political Socialization? Examine the various tools
of socialization.

jkt uhfrd l ekt hdj.k D; k gS\  l ekt hdj.k ds fofHkUu l k/ uksa dh
l eh{kk dhft , A

4. Do you think that the supremacy of the parliament is
continuously declining? Discuss in detail.

D; k vki  l e>rs gSa fd l al n dh l oksZPprk yxkrkj fxjrh t k jgh
gS\  foLrkj l s foospuk dhft , A

Section - B @ [ k. M&[ k
(Short Answer Type Questions) ( y?kq mÙkj ksa okys i z' u)

Note : Section 'B' contains eight (08) short-answer-type
questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4×5=20)

uksV % [ k. M [̂ k* esa vkB (08) y?kq mÙkj ksa okys i z' u fn; s x,  gSa] i zR; sd
i z' u ds fy,  i k¡p (05) vad fu/ kZfj r  gaS A f' k{kkfFkZ; ksa dks buesa
l s dsoy pkj  (04) i z' uksa ds mÙkj  nsus gSa A
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1. Discuss the scope and utility of comparative politics.

rqyukRed jkt uhfr ds {ks=k , oa mi ; ksfxrk dk o.kZu dhft , A
2. Define constitutionalism and distinguish it from

constitutional government.

l afo/ kuokn dh i fjHkk"kk nhft ,  vkSj ml dk l aoS/ kfud l jdkj l s
vUrj crkb, A

3. Describe the importance of Direct Representation.

i zR; {k i zfrfuf/ Ro ds egRo dk o.kZu dhft , A
4. Discuss the various conditions of Political Participation.

jkt uhfrd l g; kfxrk ds fy,  fofHkUu ' krks± dh foospuk dhft , A
5. Discuss the importance of pressure groups in modern

politics.

vk/ qfud jkt uhfr esa ncko l ewg ds egRo dh foospuk dhft , A
6. Define Political Culture and discuss its importance in the

study of comparative politics.

jkt uhfrd l aLÑfr dh i fjHkk"kk nhft ,  rFkk rqyukRed jkt uhfrd
vè; ; u esa ml ds egRo dk o.kZu dhft , A

7. What is modernization? Distinguish it from development.

vk/ qfudhdj.k D; k gS\  bl dk fodkl  l s vUrj Li "V dhft , A

8. What is Judicial Activism? Give your views on it.

U; kf; d l fØ; rkokn D; k gSa\  bl  l EcU/  esa v i us fopkj i zdV
dhft , A
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Section - C @ [ k. M&x

(Objective Type Questions) @ ( oLrqfu"B i z' u)

Note : Section 'C' contains ten (10) objective-type questions
of one (01) mark each. All the questions of this section
are compulsory. (10×1=10)

uksV %[ k. M x̂* esa nl  (10) oLrqfu"B i z' u fn; s x,  gSa] i zR; sd i z' u
ds fy,  , d  (01) vad fu/ kZfj r  gS A bl  [ k. M ds l Hkh i z' u
v fuok; Z gSa A

Write true/false against the following.

fuEufyf[ kr  ds l keus l R; @v l R;  fy f[ k; sA

1. The influence of Pressure Groups is more in presidential
system than in the Parliamentary system.

vè; {kkRed ' kkl u i z.kkyh esa ncko l ewgkas dk i zHkko l al nkRed
' kkl u i z.kkyh dh v i s{kk vf/ d gksrk gSA

2. In one party system where the party does not allow other
parties to exist or does not allow to oppose, it is called an
authoritarian party.

, d nyh;  O; oLFkk esa vxj og ny vU;  nyksa dks cus jgus dk
vfèkdkj u nsrk gks ; k mUgsa fojks/  dk vf/ dkj u nsrk gks rks og
ny vf/ uk; doknh dgykrk gSA

3. Effective control over the powers exercised by the
government is not a necessary element of constitutionalism.
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l jdkj dh ' kfDr; ksa i j  i zHkko' kkyh fu; a=k.k l afo/ kuokn dk , d
vko' ; d rRo ugha gSA

4. In a democratic system to obtain a higher level of political
participation it is necessary to have knowledge of
government's objectives and programmes.

, d yksdrkaf=kd O; oLFkk esa jkt uhfrd l gHkkfxrk dk vPNk Lrj
i zkIr djus ds fy,  l jdkj ds y{; ksa , oa dk; ZØeksa dh t kudkjh
gksuk vko' ; d gSA

5. Comparative politics does not differ from comparative
government.

rqyukRed jkt uhfr , oa rqyukRed l jdkj esa dksbZ vUrj ugha gksrk gSA

Choose the correct alternative.

l gh fodYi  pqfu; sA

6. How many seats have been reserved for the union Territories
in Lok Sabha?

(a) 20

(b) 25

(c) 35

(d) 50

dsUnz' kkfl r jkT; ksa ds fy,  yksdl Hkk esa fdruh l hVsa l qjf{kr dh x; h gSa\

(v ) 20

(c) 25

( l ) 35
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(n) 50

7. The head of state under a parliamentary government enjoys?

(a) Absolute Powers

(b) Limited Powers

(c) Nominal Powers

(d) No Powers at all

l al nkRed ' kkl u i z.kkyh esa jkT;  dk eqf[ k; k fuEufyf[ kr esa l s
dkSu&l h ' kfDr; ksa dk i z; ksx djrk gS\

(v ) v l h;  ' kfDr; ksa dk

(c) l hfer ' kfDr; ksa dk

( l ) ukeek=k dh' kfDr; ksa dk

(n) fdl h Hkh rjg dh ' kfDr; ksa dk ugha

8. Who of the following did not make use of historical
approach for the study of politics?

(a) T.H. Green

(b) Aritotle

(c) Karl Marx

(d) Sir Henry Maine

fuEufyf[ kr esa l s fdl  ys[ kd us , sfrgkfl d mi kxe dk i z; ksx
jkt uhfr ds vè; ; u esa ugha fd; k\

(v ) Vh-, p- xzhu
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(c) v jLrw

( l ) dkyZ ekDl Z

(n) l j  gsujh esu

9. In recent years the Marxian approach to the study of political
system has received a setback due to-

(a) End of Cold War

(b) Emergence of a strong non-aligned movement

(c) disintegration of soviet Union

(d) Emergence of a bipolar world

gky ds o"kks± esa jkt uhfrd O; oLFkk ds ekfDl Z; u mi kxe dh
vè; ; u dh fof/  esa xfrjks/  dk dkj.k fuEufyf[ kr esa l s dkSu&l k
gS\

(v ) ' khr ; q¼ dh l ekfIr

(c) , d et cwr xqV&fui s{k vkUnksyu dk vkfoHkkZo

( l ) l ksfo; r l a?k dk fo?kVu

(n) f}/ zqoh;  fo' o dk vkfoHkkZo

10. Federal court in Switzerland is known as-

(a) The Supreme Court

(b) The Federal Tribunal

(c) The Federal Council

(d) The Central Court
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fLoV~t jyS.M esa l a?kh;  U; k; ky;  dks D; k dgrs gSa\

(v ) l oksZPp U; k; ky;

(c) l a?kh;  U; k; kf/ dj.k

( l ) l a?kh;  i fj"kn~

(n) dsUnzh;  U; k; ky;


